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22| s BALASE RIERY e FM | BESE | BER | KEW
1 LE™M |SEHIAE3SE 3DK LETHRESHE1TH 2 S44 AREEE | 47.99
2 LE™M |SEHIAE45E 3DK LETMHRESHE1TH 4 S47 ARERE | 47.99
3 LE™M |SEHIAE55E 3DK LETMHPREESHET1THE 3 S45 ARERE | 47.99
4 LE™M |SEHIAE6SE 3DK LEMHPRESHE1TH 5 S47 AREEE | 47.99
5 LE™M |SEHIAE75E 3DK LETMHRESHE1TH 5 S45 AREEE | 47.99
6 LE™m |[SEHIAE8SE 3DK LETMHREEHE1THE 4 S45 AREEE | 47.99
7 LE™T |ZEEAE1S5E 3DK LETMEREZEITH 1 S39 AREEE | 53.36
8 LET |ZRAE25EE 3DK LEHMEXZE1TH 1 S40 AREEE | 48.15
9 LE™M |FhHEAEISE 3DK LETRARFMRMESTH 1 S49 SRR | 47.99
10 LE™ |4HEAE105E 3DK LETRRE4MEHE3TH 1 S51 ARERE | 47.99
11 LE™ | AE1S5EE 3DK Iix ST X £ AR BT 3 S47 SRR | 47.99
12 L™ | AE35EE 3DK [z & X £ AR BT 1 S47 AREEE | 47.99
13 LEM |HARXES5E5EE 3DK LETAEREA2TH 3 S54 ofEE | 589
14 LE™M |[FEHEAS15E 3DK LETRRMEHESTH 3 S49 AREEE | 47.99
15 LET |ABEEAE258E 3DK LETRRMEHESTH 3 S49 AREEE | 47.99
16 LE™  |WBEAE1S5EE 3DK i & X AR AR BT 2 S46 ABEEE | 47.99
17 LE™  |WWIRETAE25EE 3DK iz 5T e X A AR BT 8 S44 AREEE | 47.99
18 | HWLE™M |BEXAE35HE 3DK RLEMAEFETH 1 H2 AREEE | 589
19 =rm  |[+EHTAE15E 4DK =Rm+BHETETITE 1 H4 AREE | 703
20 =Rm |[tHTAE25E 4DK =Rm+BHETETITH 2 H5 AREEE | 703
21 ERM |[ZEETLAE 4DK FER™ =BT 3 H9 AREEE | 72.53
22 Bl |SIFEHAE1SEE 3DK RIS EFE3TH 3 S48 AREEE | 47.99
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22| s BRALAEE RIERY AREE M FM | RESE | BB | KEW
1 B BRE 3LDK EWmLKX#HEFE2TH 4 H9 AREREE | 7541
2 HRmm | KREAE258E 3DK T AmHXE 1 HIT fEE | 589
3 RLET |[@EAELE 3DK RLETEESXNESTH 3 H7 ofEE | 71.35
4 BlUh | BFEZAE 3LDK A& LU T P BT 2 H9 AREEE | 75.47
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gf.;f st L (B4) RAERY A 2E i mEEE | EE KE¥ | EV BES1T2
1 IN=Ti] +HEFE 2K(6-4.5-53) LEMERFAHFET_TH S45 5P 36.9 =
2 IN=Ti] +HEF=E 2K(6+4.5-53) LETRERFAHFET-TH S45 5P 36.9 i3
3 IN=Ti] +HEF=E 2K(6+4.5-&3) LETRERFAHFET=TH S44 5FE % 36.9 i3
4 IN=Ti] +HEF=E 2K(6-4.5-53) LETRRFBEHFET=TH S44 5FE 36.9 =
5 IN=T7] +HEF=E 2K(6-4.5-53) LEMERXRFAHFET_TH S44 5P 36.9 =
6 IN=T] +HEFE 2K(6-4.5-53) LEMERSFAHFET_TH S44 5P 36.9 i
7 IN=Ti] +HEFE 2K(6+4.5-53) LETRERFAFET-TH S44 5FE % 36.9 i3
8 IN=Ti] +HEF=E 2K(6-4.5-53) LETRRFBEHFET=-TH S44 5P 36.9 "
9 IN=Ti] +HEFE 2K(6-4.5-53) LETRRFBEHFET=TH S44 5P 36.9 =
10 IN=Ti] 4+ HEE 2K(6-4.5-53) LEMERFAHFET_TH S44 5P 36.9 i
11 IN=Tii] TlEEE 2UDK(6-4.5-%33-56) LETREEX EZRATH S48 5P 52 46.6 i1
12 IN=T7] TlEEE 2UDK(6-4.5-133-56) LETREEX EZRATH S48 SRR 46.6 "
13 IN=T7] TiEFE 3DK(6-4.5-4-56) LETREEX EZATH S47 5P R 46.7 =
14 IN=Tii] TIEEE 3DK(6-4.5-4-56) LETMREEX EZATH S47 5P R 46.7 =
15 IN=Ti] TIEEE 3LDK(6-6-4.5-LDK) LETREEX EZRATH SA7T{¥hHI | SREEE 70 i1
16 IN=T7] TiEFE 3DK(6-4.5-4-56) LETREEX EZRATH S47 5FE % 46.7 i3
17 IN=Ti] REEE 3DK(8-6-4.5-56) LETMEREEX/\KRK=TH S56 IFEE 59.6 ® SEERIT
18 ILE™ AT {EE 3DK(6-4.5-4-56) LETMRIEEX/\KRATH S47 5P R 46.7 i1
19 LET™ A E 3DK(6-4.5:4-56) LETERIERX/\KRAKTH S47 5P 46.7 ® |SEE M I(TEEBF)
20 IN=T7] APT{EE 3DK(6-4.5-4-56) LETMERERX/\KRATH S47 SRR 46.7 "
21 IN=T7] APT{EE 3DK(6-4.5-4-56) LETMERERX/\KRATH S47 5FE 46.7 =
22 IN=T7] WILEE 2L.DK(6+6+LDK) LETREEX/\KRKATH S57 ARETE 66.5 =
23 LET |EECEE)EE 3DK(6-4.5- 16+ 56) LEM&RELRESETH S49 bR 51.2 ® | BhEEER
24 IN=Ti] =& Ee)FE 3DK(6+4.5-fr4-56) LETRIELXREZES=TH S49 5P 46.6 =
25 IN=Ti] =& e EFE 3DK(6-4.5-tx4-56) LETZRELXREZSMTH S49 5FE 46.6 =
26 IN=Ti] =SE(E8)F=E 3DK(6-6-4-56) LETRELXLXEERTH S50 5P 51.1 =
27 IN=T7] =S5 (Eg)F=E 3DK(6-6-4-56) LETRELREERTH S50 5P 51.18 i
28 IN=Tii] =% (E&)EE 3DK(6+6+1r4-56) LETRELXEEMTH S50 5P 51.1 i1
29 IN=Ti] =% (E&)FE 3DK(6+6+ 14" =6) LETMERELLXEEMTH S50 SRR 51.1 i1
30 IN=ZTi] =G (E8)F=E 3DK(6+6+1r4-&6) LETRELXEEMNTH S50 5P 51.1 =
31 ILE™ =S5 (Eg)F=E 3DK(6-6-4.5-56) LETRELXREEMTH S50 5P 56.8 =
32 IN=Ti] =% (E&)EE 3DK(6-6-4.5-56) LETRELXEEMTH S50 5P 56.8 i1
33 IN=T] =% (E&)FE 3DK(6+4.5-1r4-57.5) LETMERELLXEEMTH S51 10/ 50.9 A
34 IN=T7] =S5 (BlE) F=E 3DK(6-6-4.5-56) LETRELLXREaB_TH S51 5P i 56.8 i3
35 IN=Tii] HIUOILEEFE 3DK(6+6+1r4-56) LETMRELXRHSUOMNERTH S50 5P 51.1 i
36 IN=T1] HIUMNEFE 3DK(6-6-1r4-56) LETRELRHIUOAERTH S52 5P 56.8 i3
37 IN=T7] HSUMLEFE 3DK(6-6-4.5-56) LETRELERHSIUOAERTH S52 5P 56.8 i3
38 IN=Tii] HSUMEFEE 3DK(6-6-1r4-56) LETZRELARHTUOLAERTH S50 5 51.1 i3
39 | Z=EEMEAET |iBHEFE 3DK(6-6-4.5-56) TEANEHEBT DCHHET S55 5P 56.8 i1
40 | Z=EEHEET BEHEE 3DK(6-6-4.5-56) TEANBEHEBT DKHHET S55 5P 56.8 i1
4 | ZEEEEET EHEE 3DK(6-6-4.5-56) TEEEEET DCHHET S56 SR 56.8 i3
42 | Z=EEHEET BHEE 3DK(6-6-4.5-56) TEANEHEBT DKHHET S56 5P 56.8 i1
43 | Z=EEHEET BHEE 3DK(6-6-4.5-56) TEANEHEBT DKHHET S56 5P 56.8 =
44 | Z=EEHET JBHAREFEE 3DK(6-6-4.5-56) T=EEHA RET S51 SPE R 56.8 i1
45 | ZEEERATEHBREE 3DK(6-6-4.5-56) T=E0EHEA RET S51 5P 56.8 =
46 | H=ENEHET |(BHARE=E 3DK(6-6-4.5-56) TE=EEHE A RET S51 5FE 56.8 =
47 | B=ERET |R{EF=E 3DK(6+6-4.5-DK) EEENRETIRE—TH S61 MR 58.87 =
48 | E=ENRET |R{EFE 2LDK(6-6-LDK) TEANRETIRE—TH S61 P& 65.02 i
49 | R=EENRET |R{EFE 2LDK(6+6-LDK) RERIRETIRE—T B S61 3fEE 65.02 i3
50 | R=ENRET |R{FE 2L.DK(8-6-LDK) TE=ARETIRE—T B S61 3 58.68 i1
51 | Z=ENRET |R{F=E 2LDK(6+6-LDK) EEENRETIRE—TH S62 3R 65.02 =
52 HtHmM [(HHWEE 3DK(6-6-4.5-56) HHmHR&SE S57 5P 32 56.81 i
53 B & {F=E 2L.DK (6+6-LDK) EmERENATH H1 AR TR 58.8 i




54 B fEEE 3DK(6-4.5-%6-56) EmlERATHE H1 AR 32 60.6 i

55 B fIREE 2LDK (6+6+LDK) EHERAATH H1 ARE 58.8 "

56 =) fIEE=E 3DK(6-4.5-¥6-56) SHERATH H1 AR 32 60.6 i

57 B fIEEE 3DK(6-i¥6-;¥6-56) SHhERATH H4 AR 3 64.6 "

58 | WILE™ |IREAEE 2LDK(6-6-%10) CYINCL T3 8 a0 S59 AR 66.5 "

59 MrlRd |[BEZAFILEE 3DK(6-6+4.5-56) Ty TR T A TR T S55 5 2 58.9 ="

60 g |EZAFILEE 3DK(6+6+4.5-56) Ty R T T IR ET S55 SR & 58.9 "

61 =R |REMEE 3DK(6-4.5-r4-56) ZIRHRE4T B S51 SR 3 51.25

62 =R | REEE 3DK(6-6-4.5-56) =R EEHRT3010 S56 3fEE 58.9 = A
63 ERT | AEEE 3DK(6-4.5-4-56) ERHERITZTH S51 5 2 51.25




